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1 KRR KRR RN KRR KRR KRR KKK KRR KRR KRR KKK R KX K IR KRR KX

P e e s

3 PROGRAM NAME : MAIN PROGRAM (FOR DRAWING AIR PLANE)

4 T EREEEERKRN RN R R KRR KRR KR KRR KRR KRR KRN R R AR KRR KRR R KRR X X KX

L e e et et s

10 CHAIN MERGE "SUB1" ,ALL,DELETE 10

20 GOSUB 2100 : GOSUB 2900

30 FOR SKY=0 TO 2%xPAI+PAI/8 STEP PAI/S8

40 RESTORE 80 : GOSUB 8200 : GOSUB 8300 : GOSUB 3100

50 GOSUB 3200 : GOSUB 3600 : GOSUB 8400

60 NEXT SKY

70 DATA 14

80 paTA 0,0 , 1,1 , 6,22 , 7,30 , 7.5,40 , 7.5,66 , 7.5,75 , 7.5,88 , 7.5,115
7,123 , 6,129 , 4,135 , 1,139.5 , 0,140

110 ERASE X,Y,Z,DL$,XX,YY : RESTORE 200 : GOSUB 2900

120 FOR K=1 TO 2

130 FOR SKY=0 TO 2%xPAI+PAI/5 STEP PAI/5

140 RESTORE 205 : GOSUB 8200 : GOSUB 8300

150 XMM=24 : YMM=75 : ZMM=6 : IF K=2 THEN XMM=-24
160 GOSUB 10000

170 GOSUB 3200 : GOSUB 3600 : GOSUB 8400

180 NEXT SKY

190 NEXT K

200 DATA 6

205 patra 2,0 , 2.8,5 , 3,8 , 4,8 , 4.8,15 , 4,19

210 ERASE X,Y,Z,DL$,XX,YY : RESTORE 230 : GOSUB 2800

220 RESTORE 240:GOSUB 3000:GOSUB 3100:GOSUB 3200:GOSUB 3600:GOSUB 3800

230 DATA 29

240 DATA 6.5,62,4,P , 22,60.5,2,x , 68.5,43.5,-2.5,%¥ , 68,49,-2.5,% ,
67,51,-2.5,x , 9,92,4,%x , 6.5,95,4,%

250 DATA -6.5,62,4,P , -22,60.5,2,%x , -68.5,43.5,-2.5,%x , -68,49,-2.5,% ,
-67,51,-2.5,x , -9,92,4,%¥ , -6.5,95,4,%

260 DATA 1.5,4,-2,P , 27.5,-2,-6,% , 27,2.5,-6,%x , 7,19,-2,% , 5.,5,21,-2,%

270 DATA -1.5,4,-2,P , -27.5,-2,-6,¥ , -27,2.5,-6,% , -7,19,-2.,x , -5.5,21,-2,%

280 DbATA 0,8,-3,P , 0,-3,-33,%¥ , 0,4,-33,x , 0,27,-10,% , 0,33,-7,%
300 END
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1000
1001
1002
1003
1004
1005
1009
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
1400
1410
1420
1430
1440
1450

’**************************x*********tt****************************
’****xx*********x****************xxx*xxt*x**x********x*****xx******
3] PROGRAM NAME : SUBROUTINE X ¥
'xx***x*x****t*****x**x*x*x**x*****txxx***x*********x*x**x**x****x*
’*********************************Xt*t*t***************************
’
'O00Q0QQ SPLINE - CURVE Q000000
T(0)=0
FOR I=1 TO N-1
T(I):T(I—1)+SQR(((XX(I)—XX(I—1)“2)+((YY(T)—YY(I—1))“2))
NEXT 1
FOR FL=1 TO 2
FOR P=0Q0 TO N-1
IF FL=1 THEN Y(P)=XX(P) ELSE Y(P)=YY(P)
X(P)=T(P)
NEXT
AA=2 : P
F=(Y(P+1)-Y(P))/(X(P+1)-X(P))
G:(Y(P)—Y(P—]))/(X(P)—X(P—]))
L:(X(P+1)—X(P))/(X(P+1)—X(P—l))
BB=6X(F-G)/(X(P+1)-X(P-1))
A({P)=AA : B(P)=BB
FOR P=2 TO N-2
E=(X(P)~X(P-1))/(X(P+1)-X(P-1})
F=(Y(P+1)-Y(P))/(X(P+1)-X(P))
G:(Y(P)—Y(P—l))/(X(P)—X(P—l))
D:S*(F—G)/(X(P+1)—X(P—l))
BB=D-E¥BB/AA : AA=2-EXL/AA : A(P)=AA : B(P)=BB
NEXT
P=N-2 : M{(P+1)=0 : Z=B(P)/A(P) : M(P)=7
FOR P=N-3 TO 1 STEP -1
L=(X(P+1)—X(P))/(X(P+1)—X(P—1)) P Z=(B(P)-LX¥Z)/A(P)
M(P)=2Z
NEXT
M(0)=0
FOR T=0 TO N-1
IF FL=1 THEN M1(1)=MI ELSE M2(1)=MI
NEXT
NEXT
T=T(0)
J=0
J=J+1 : IF J>N THEN GOTO 1450
TF T>=T!{J) THEN GOTO 1350
H=T(J)-T(J-1) : U=T{(J)-T : V=T-T{(J-1)
X:M](J—l)*((U”3)/H—U*H)/6+M](J)*((V“B)/H—V*H)/6+U¥XX(J—1)/H+V*XX(J)/H

Y:M2(J—1)*((U“B)/H—U*H)/6+M2(J)*((VA3)/H-V*H)/6+U¥YY(J—1)/H+V*YY(J)/H
X(IN=X : Y(T)=Y : Z(I1)=0
X=X(TI) : X{(I)=X(T)*COS(SKY) : Z(I)=X*¥STN(SKY)

GOSUB 3160 : GOSUB 3260 : GOSUB 3650
LINE -(X(I),-Y(I))

T=T+ST : GOTO 1340

RETURN
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2000
2010
2020
2100
2110
2120
2130
2150
2160
2170
2180
2190
2200
2220
2230
2240
2320
2330
2332
2334
2340
2350
2360
23170
2380
2390
2400
2410
2420
2430
2440
2450
2460
24170
2480
2490
2500
2510
2520
2530
2540
2550
2560
2570
2580
2590
2600
2610
2620

’OQOQQQQOQOOQQO00OQQOQOQOQQQQOQOQOQQOQOOQOQOQQQQOOOOOQOQQQOQOQQOOOQOOOO
ATATATAIATAA SUBROUTINE PROGRAM alatataiataln)
’OOQQOOQOQOQQOQOQOQQOOOQOQQQQOQOOOQOOOOQOQOQOQQOQOOQQOQOOQQQOQOOOOOQOQQ
CONSOLE 0,25,0,1 : SCREEN 3,0 : WIDTH 80,25 : CLS 3 : €OL=7

POX=640 : POY=400 : PAT=3.14159

DPX=2.678 : 'DOTS PER lmm TO THE X-DIRECTTON

DPY=2.721 : ’DOTS PER 1mm TO THE Y-DTRECTION
PRINT:PRINT:PRINT:PRINT:PRINT SPC(9) "A 1 - FOCUS PROJECTION"
PRINT SPC(9) "B 2 - FOCUS PROJECTION"

PRINT SPC(9) "C 3 - FOCUS PROJECTION"

PRINT SPC(9) "D SHAFT PROJECTION"

PRINT : PRINT : PRINT

INPUT "CHOOSE ONE AMONG A - D !" | AS$

CLS 1

PRINT : PRINT

INPUT "DECIDE THE ORIGINAL-POINT (X0,Y0) (mm)!" : XO0,Y0

X0=X0¥DPX : YO=YO*DPY
WINDOW (—POX/Z—XO,—POY/2+YO)—(POX/Z—XO.POY/2+Y0)

INPUT "DO YOU INTEND TO EXPRESS THE GRID {Y/N}" + YNS
IF YN$="Y" OR YN$="y" THEN 2340 ELSE 2650

LINE (-POX,0)-(POX,0) : 'X-SHAFT

LINE (0,-POY)-(0,POY) : ’'Y-SHAFT

10000060 GRID MAKING-OUT 00000046
'(1) X-DIRECTION
NDX=INT(POX/(DPX%10))
FOR I=-NDX TO NDX
IF I=0 THEN 2450
XF=1 MOD 5
IF XF<>0 THEN 2440
LINE (DPX*10%I,-POY)-(DPX*10%I,POY),1
LINE (DPX*lO*I,-POY)-(DPX*IO*I.POY).1,.&H9999
NEXT I
»

'(2) Y-DIRECTION
NDY=INT(POY/(DPY*10))
FOR I=-NDY TO NDY
IF I=0 THEN 2550
YF=1 MOD 5
IF YF<>0 THEN 2540
LINE {-POX,DPY¥10%T)-(POX,DPY*10%x1),1
LINE (—POX.DPY*IO*I)—(POX,DPY*10*]),],,&H9999
NEXT I
COLOR 4
YHJ=INT(YO/(POY/25))
IF YHJ>11 OR YHJ<-11 THEN 2600
LOCATE 78,11-YHJ : PRINT "X"
XHJ=INT(X0/(POX/80))
IF XHJ>39 OR XHJ<-39 THEN 2630
LOCATE 41+XHJ,0 : PRINT "Y" : COLOR 7
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2630

2640 PRINT : PRINT : PRINT : PRINT
2650 INPUT " MAGNIFICATION" : RT

2660 INPUT " MOVEMENT TO THE X-DIRECTION (mm)" : XM : XXM=XM
2670 INPUT " MOVEMENT TO THE Y-DIRECTION (mm)" : YM YYM=YM
2680 INPUT " MOVEMENT TO THE Z-DTRECTION (mm)" ; 2ZM : ZZM=2M
2690 IF A$="D" GOTO 2760

2700 INPUT ™ DISTANCE OF PP-SP (mm)" ; SP

2710 IF A$="A" THEN 2770

2720 IF A$="B" GOTO 2740

2730 ITF A$="C" GOTO 2750

2740 INPUT " INPUT ROTATION-ANGLE ABOUT Y-SHAFT" : YR : GOTO 2770
2750 INPUT INPUT ROTATION-ANGLE ABOUT Y--5>Y¥ SHAFT" ;YR,XR:GOTO 2770
2760 INPUT " INPUT ROTATION-ANGLE ABOUT Y~->X-->7 SHAFT" :YR,XR, ZR
2770 CLS 1

2780 P=PAT/180 : YR=PXYR : XR=P¥XR : ZR=P¥ZR

2790 RETURN

2800 '

2900 '0000Q00 DIMENSION 0000000

2910 READ NN

2920 DIM X{NN),Y(NN),Z(NN),DLS$(NN),XX(NN),YY(NN)

2930 RETURN

2940 !

3000 ’90000000 READ DATA 0000000

3010 FOR I=1 TO NN

3020 READ X(I),Y(I),Z(I),DL$(T)

3030 NEXT T

3040 RETURN

3050 !

3100 '0000000 MOVEMENT 0000000

3110 FOR I=1 TO NN

3120 GOSUB 3160

3130 NEXT I

3140 RETURN

3150 °

3160 X(I)=X{(I)+XM : Y(I)=Y(I)+¥YM Z(1)=Z(1)+2ZM

3170 RETURN

3180 °

3200 '0000 ROTATION-TRANSFORMATTON |, PROJECTION-TRANSFORMATION SUBROUTINE 9000
3210 FOR I=1 TO NN |

3220 GOSUB 3250

3230 NEXT I

3240 RETURN

3250 IF A$="A" THEN 3450

3260

3270 ’'(1) ROTATION ABOUT Y-SHAFT

3280 X1=X(T) Z1=2(1)

3290 X(I)=X1*COS(YR)-Z1¥SIN(YR)

3300 Z(1)=X1*¥SIN(YR)+Z1%*COS(YR)

3310 IF A$="B" THEN 3450

3320

3330 '(2) ROTATION ABOUT X-SHAFT

3340 22=2(T1) Y2=Y(I)

3350 Y(I)=Z2¥SIN(XR)+Y2XCOS(XR)

3360 Z(T)=Z2%COS(XR)-Y2¥SIN(XR)

3370 IF A$="C" THEN 3450
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3380
3390
3400
3410
3420
3430
3440
3450
3460
3470
3480
3490
3600
3610
3620
3630
3640
3650
3670
3680
3690
3700
3730
3740
3800
3810
3820
3850
3860
3870
3880
3890
3900
3920
3940
3960
3980
4000
4010
4020
4030
4100
4110
4120
4130
4140
4200
4210
4220
4230
4240
4250
4260

'(3) ROTATION ABOUT Z-SHAFT
Y3=Y(I) : X3=X(I)
X(I)=Y3*SIN(ZR)+X3*COS(ZR)
Y(I)=Y3%*COS(ZR)-X3*¥SIN(ZR)
IF A$="D" THEN RETURN

’

' (4) PROJECTION-TRANSFORMATION
X(I)=SP*X(I)/(SP+Z(I))
Y(I)=SP*Y(I)/(SP+Z(I))

RETURN

’

' 0000000 MEASUREMENT~CORRECTION , SCALING [aTaalafATAlY
FOR I=1 TO NN
GOSUB 3650
NEXT I
RETURN
?

' (1) MEASUREMENT-CORRECTION
X(I)=X(T}*DPX : Y(I)=Y(I)*DPY
'(2) SCALING

X(I)=X(I)¥RT : Y{(I)=Y(I)*¥RT
RETURN

’

100060000 LP OR LINE ©000000

FOR I=1 TO NN
IF DL$(I)="P" THEN GOSUB 3900 : GOTO 3870
IF DL$(I)="P" THEN GOSUB 3900 : GOTO 3870
GOSUB 3940

NEXT 1

RETURN

b

'(1) LP

POINT (X(I),-Y(I)) : RETURN
’(2) LINE

LINE -(X(I),-Y(I)),COL : RETURN
?

10000000 READ DATA (CIRCLES) 000000Q
READ R,XC,YC,ZC,AS,AE

RETURN

¥

10000000 CIRCLE-DRAWING SUBROUTINE [aTalatalalals)
N=INT(R*RT/1.5+20) : BB=2%¥PAI/N

AS=P*AS : AE=P¥AE

RETURN

’

10000009 CIRCLES ON THE X-PLANE Q0006
FOR I=INT(AS/BB) TO INT(AE/BB)+1
AA=BBX¥1
IF I=INT(AS/BB) THEN AA=AS
IF I=INT(AE/BB)+1 THEN AA=AE
YC2=R¥SIN(AA) : ZC2=R¥COS(AA)
X(T)=XC : Y{(I)=YC+YC2 : Z(I)=ZC+ZC2
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1270
4280
1290
1300
4310
4320
1400
4410
4420
4430
4440
3450
4460
4470
1480
4490
4500
4510
1520
1600
1610
1620
4630
4640
1650
4660
4670
4680
1690
1700
4710
4720
1800
4810
1820
4830
4840
1850
4860
4870
4880

4890
4900
4910
4920
4930
4940
4950
5000
5010
5020
5030
5040
5050

GOSUB 3160

GOSUB 3250 : GOSUB

IF AA=AS THEN GOSUB 3900 : goTo

GOSUB 3940
NEXT T
RETURN
’

ATATAYAYAYAYAY CIRCLES
FOR I=INT(AS/BB)
AA=BBx]
1F I=INT(AS/B
IF [=TNT(AE/B
ZC2=R¥SIN(AA)
X{1)=XCc+XC2
GOSUB 3160
IF AA=AS THEN
GOSUB 3940
NEXT 1
RETURN

"QO0Q00Q  CIRCLE
FOR T=INT(AS/BB)
AA=BB¥1]
IF I=INT(AS/B

3650
4300

ON THE Y-PLANE [SAIATATATATAY

TO INT(AE/BB)+1

B) THEN AA=AS
B)+1 THEN AA=zAE
XC2zR*COS(AA)

Y(I)=YC : Z(I)=Z2C+27C2

GOSUB 3260 : GOSUB
GOSUB 3900 : GoTO

3650
4500

S ON THE Z-PLANE [AAIATATATATAY

TO INT(AE/BB)+1

B) THEN AA=AS

IF T=INT(AE/BB)+1 THEN AA=AE

YC2=R¥SIN{AA)
X(I)=XC+XC2
GOSUB 3160
IF AA=AS THEN
GOSUB 3940
NEXT 1
RETURN
13

'Q000000 SPHERE
FOR SXR=0 TO PATJ
FOR I=INT(AS/
TF I=INT(A
IF I=INT(A
AA=BBx¥T
ZC2=R*SIN{(
X(T)=XC2
Y(T)=2(1)x
GOSUB 3160

IF AA=AS THEN GOSUB 3900

GOSUB 3940
NEXT 1
NEXT SXR
RETURN
’

‘0000000 SPHERE

FOR SZR=0 TO PAT

FOR I=INT(AS/

IF T=INT(A

IF I=INT(A
AA=BBx%1

XC2=R*COS(AA)
Y(I)=YC+YC2 : Z(1)
GOSUB 3260 : GOSUB
GOSUB 3900 : GgoTO

ABOUT X-SHAFT (1)

STEP PAI/DVN

BB) TO INT(AE/BB)+1
S/BB) THEN AA=AS :

E/BB)+1 THEN AA=AE

AA) : XC2=RXCOS(AA)
Y(I)=0 : z(1)=2C2

SIN(SXR)+YC : Z(I)=Z(1)%COS(SXR)+ZC

=ZC
3650
4700

[aAlaTalaTATA)

GOTO 4860
GOTO 4860

GOSUB 3260 : GOSUB 3650

ABOUT Y-SHAFT (1)
STEP PAI/DVN

BB) TO INT(AE/BB)+1
S/BB) THEN AA=AS
E/BB)+1 THEN AAzAE
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2000000

GOTO 5060
GOTO 5060

X(I)=X(1)+XC



5060
5070
5080
5090
5100
5110
5120
5130
5140
5150
5200
5210
5220
5230
5240
5250
5280
5270
5280
5290
5300
5310
5320
5330
5340
5350
5351
5352
5354
5356
5358
5360
5361
5370
5372
5374
5376
5378
5380
5382
5390
5392
5394
5396
5398
5399
5400
5405
5410
5420
5430

YC2=R¥SIN(AA) : XC2=R*COS(AA)

X(I)=XC2 : Y(I)=YC2 : Z(I)=0
Z(I1)=X(I)¥COS(SZR)+ZC : X(I)=X(I)*SIN(SZR)+XC
GOSUB 3160 : GOSUB 3260 : GOSUB 3650
IF AA=AS THEN GOSUB 3900 : GOTO 5120
GOSUB 3940
NEXT T

NEXT SZR

RETURN

1

‘9000000  SPHERE ABOUT Z-SHAFT (1) 6000000

FOR SYR=0 TO PAI STEP PAI/DVN

FOR I=INT(AS/BB) TO INT(AE/BB)+1
TF TI=INT(AS/BB) THEN AA=AS : GOTO 5260
IF 1=INT(AE/BB)+1 THEN AA=zAE : GOTO 5260
AA=BB¥]
YC2=R¥SIN(AA) : ZC2=RXCOS (AA)
X(1)=0 : Y(I)=YC2 : 2(1)=2C2
X(1)=Y(1)¥SIN(SYR)+XC : Y(I)=Y(I)*¥COS(SYR)+YC
GOSUB 3160 : GOSUB 3260 : GOSUB 3650
IF AA=AS THEN GOSUB 3900 : GOTO 5320
GOSUB 3940
NEXT I
NEXT SYR
RETURN
’
9000009 SPHERE ABOUT X-SHAFT (2) 60000000
RR=R : XXC=XC : AS=P*¥AS : AE=P¥AE

FOR ANGX=-PAI/2+PAI/DVN TO PAI/2-PAI/DVN STEP PAI/DVN

R=RR¥COS{ANGX) : N=INT(R¥RT/1.5+20) : BB=2%PAI/N
XC=XXC+RR¥SIN{ANGX) : GOSUB 4200

NEXT ANGX : RETURN

'

'Q00000¢ SPHERE ABOUT Y-SHAFT (2) Q000000
RR=R ! YYC=YC : AS=PX*AS : AE=P¥AF

FOR ANGY=-PAI/2+PAI/DVN TO PA1/2-PAT/DVN STEP PAI/DVN

R=RR*COS{ANGY) : N=INT(R*RT/1.5+20) : BB=2%PAI/N
YC=YYC+RRXSIN(ANGY) : GOSUB 4400

NEXT ANGY : RETURN

’

'0000009 SPHERE ABOUT Z-SHAFT (2) Q000000
RR=R ! ZZC=ZC : AS=PxAS : AE=PXAE

FOR ANGZ=-PAI/2+PAI/DVN TO PAI/2-PAI/DVN STEP PAI/DVN

R=RR*COS(ANGZ) : N=INT(R¥RT/1.5+20) : BB=2%PAJ /N

ZC=ZZC+RR¥SIN(ANGZ) : GOSUB 4600
NEXT ANGZ : RETURN
’
FOR T=1 TO NN
X(I)=X{(I)+XXM : Y(I)=Y{(I)+YYM : Z(I)=Z(1)+Z2ZM
NEXT T
RETURN
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5500 0000000 ROTATION ABOUT X-SHAFT (2nd) 0000009

5510 FOR 1=z1 TO NN

5520 Y=Y(I) : Z=Z(1I)

5530 Y(I)=Z¥SIN(SKX)+Y*COS(SKX)+YC:Z(I1)=Z*COS(SKX)-Y*SIN(SKX)+ZC:X(I)=X(T)+X
5540 NEXT T

5550 RETURN

5600 '@0QQ0QQ0 ROTATION ABOUT Y-SHAFT (2nd) 0000006

5610 FOR I=1 TO NN

5620 X=X(I) : 2Z=Z(1)
5630 X{I)=X*¥COS(SKY)-Z¥SIN(SKY) : Z(I)=X*SIN(SKY)+Z*COS(SKY)
5640 X(I)=X(I}+XC : Y(I)=Y(I)+YC : Z(I)=Z(I)+2C

5650 NEXT T

5660 RETURN

5700 ’'0Q00000 ROTATION ABOUT Z-SHAFT (2nd) 0000000

5710 FOR I=1 TO NN

5720 X=X(I) ¢ Y=Y(TI)

5730 X(1)=X¥COS(SKZ)-Y¥SIN(SKZ) : Y(I)=X*¥SIN(SKZ)+Y¥COS(SKZ)
5740 X{T)=X(I)+XC : Y(I)=Y(I)+YC : Z(I)=Z(I1)+ZC

5760 NEXT 1

5760 RETURN

5770 '00000Q9 ROTATION ABOUT Y-SHAFT (2nd-V2) 0000009

5775 FOR I=1 TO NN

5780 X(D)=X(D)+XC @ Y(I)=Y(I)+YC : Z(I)=Z(I1)+ZC : X=X(I) : Z=Z(I)
5785 X{I)=X*¥COS(SKY)-Z¥SIN(SKY) : Z(I)=X¥SIN(SKY)+Z¥COS(SKY)
5790 NEXT 1

5795 RETURN

5800 ’'Q0Q000Q ROTATION ABOUT X-SHAFT (S) 0000000

5805 FOR I=1 TO NN

5810 SXR=40 : SXR=P*SXR
5815 2Z2=Z(1) : YY=Y(I)
5820 Y(1)=ZZ¥SIN(SXR)+YY¥COS(SXR) : Z(I)=ZZ*COS(SXR)}-YY*SIN(SXR)

5825 NEXT I

5830 RETURN

5850 '000000Q ROTATION ABOUT Y-SHAFT (S) 0006660

5855 FOR T1=1 TO NN

5860 XX=X(1I) : ZZ=Z(1)

5865 X{I)=XX¥COS(SKY)-ZZ*¥SIN(SKY) : Z(I)=XX*SIN(SKY)+ZZ*COS(SKY)

5870 NEXT I

5875 RETURN

5880 '0Q0Q0000 ROTATION ABOUT ANY-SHAFT Q000000

5882 FOR I=1 TO NN

5884 XX=X(I) : YY=Y(I) : Z22=Z2(I)

5886 XXPX=XX-PX : YYPY=YY-PY : ZZPZ=ZZ-PZ : L=1-COS(T)

5888 X(I)=XXPXX(LXCOS(A)*XCOS(A)+COS(T))+YYPY¥(LXCOS{A)XCOS(B)-CCX¥SIN(T)+ZZPZx% (]
COS(A)Y¥CC+COS(B)*SIN{T))+PX

5890 Y(I)=XXPXX(L¥COS(A)X¥COS(B)+CC¥SIN(T))+YYPY*(L*COS(B)*COS(B)+COS(T))ZZPZ%(]
COS(B)*CC-COS(A)XSIN(T))+PY

5892 Z(1)=XXPXX*(LXCOS(A)*XCC-COS(B)*SIN(T)+YYPY*¥(L*¥COS(B)*CC+COS(A)XSIN(T))+22ZP;
(LXCC*CC+COSI(T))+PZ

5894 NEXT

5896 RETURN

- 112 -



5900
5910
5920
5930
5940
5950
5960
5870
5980
5990
6000
6010
6020
6030
6040
6100
6110
6120
6130
6140
6150
6160
6170
6180
6190
6200
6210
6220
6230
6240
6300
6310
6320
6330
6340
6350
6360
6370
6380
6390
6400
6410
6420
6430
6440
6500
6510
6520
6530
6540
6550
6560
6570
6580

'Q000000 CIRCLE ABOUT X-SHAFT (1) 0000000
FOR SXR=0 TO 2*%PAI STEP PAI/DVN
FOR I=INT(AS/BB) TO INT(AE/BB)+1
LF I=INT(AS/BB) THEN AA=AS : GOTO 5960
IF I=INT(AE/BB}+1 THEN AA=AE : GOTO 5960
AA=BBX1
ZC2=RX¥SIN(AA)+27C : XC2=R*COS (AA)
X(I)=XC2 : Y(I)=0 : Z(I)=2C2
Y(I)=Z(T)*SIN(SXR)+YC : Z(I)=Z(TI)¥COS(SXR}+ZC : X{I)1=X(T)+XC
GOSUB 3160 : GOSUB 3260 : GOSUB 3650
IF AA=AS THEN GOSUB 3900 : GOTO 6020
GOSUB 3940
NEXT I
NEXT SXR
RETURN
'00Q0009 CIRCLE ABOUT Y-SHAFT (1) 0000000
FOR SYR=0 TO 2%PAI STEP PAI/DVN
FOR I=INT(AS/BB) TO INT(AE/BB)+1
IF I=INT(AS/BB) THEN AA=AS : GOTO 6160
IF I=INT(AE/BB)+1 THEN AA=AE : GOTO 6160
AA=BBXT
YC2=R*¥SIN(AA) : XC2=RXCOS (AA)+XXC
X(I)=XC2 : Y(I)=YC2 : 2(I)=0
Z{I)=X(I)*COS(SYR)+ZC : X{I)=X(I)*SIN(SYR)+XC : Y(L)=Y(1)+YC
GOSUB 3160 : GOSUB 3260 : GOSUB 3650
IF AA=AS THEN GOSUB 3900 : GOTO 6220
GOSUB 3940
NEXT I
NEXT SYR
RETURN
'000000® CIRCLE ABOUT Z-SHAFT (1) 9000000
FOR SZR=0 TO 2%PAI STEP PAI/DVN
FOR I=INT(AS/BB) TO INT(AE/BB)+1
IF T=INT(AS/BB) THEN AA=AS : GOTO 6360
IF I=INT(AE/BB)+1 THEN AA=AE : GOTO 6360
AA=BB*1
YCZ2=R*SIN(AA)+YYC : ZC2=R¥COS(AA)
X(I)=0 : Y(I)=YC2 : Z(I)=2C2
X(I)=Y(I)¥SIN(SZR)+XC : Y(I)=Y(I)*¥COS(SZR)+YC : Z(1)=Z(T)+7C
GOSUB 3160 : GOSUB 3260 : GOSUB 3650
IF AA=AS THEN GOSUB 3900 : GOTO 6420
GOSUB 3940
NEXT I
NEXT SZR
RETURN
'QQ0000QQ CIRCLE ABOUT X-SHAFT (2) Q000000
FOR SXR=0 TO 2%¥PAI STEP PAI/DVN
FOR I=INT(AS/BB) TO INT(AE/BB)+1
IF T=INT(AS/BB) THEN AA=AS : GOTO 6560
IF T=INT(AE/BB)+1 THEN AA=AE : GOTO 6560
AA=BB¥I
XC2=R¥COS(AA) : YC2=R*SIN(AA)
X(I)=XC2 : V(I)=YC2 : Z(1)=ZZC : YY=Y(I)
Y(I)=Z(T)*SIN(SXR)+YYXCOS(SXR)+YC : Z(I)=Z(I)*COS(SXR)—YY*SIN(SXR)+ZC

X(I)=X(T)+XC
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6590
6600
6610
6620
6630
6640
6700
6710
6720
6730
6740
6750
6760
6770
6780

K790
6800
6810
6820
6830
6840
6900
6910
6920
6930
6940
6950
6960
6970
6980

GOSUB 3160 : GOSUB 3260 GOSUB 3650
IF AA=AS THEN GOSUB 3900 GOTO 6620
GOSUB 3940
NEXT I
NEXT SXR
RETURN
'0000009 CIRCLE ABOUT Y-SHAFT (2) Q00000

FOR SYR=0 TO 2%¥PAI STEP PAI/DVN
FOR I=INT(AS/BB) TO INT(AE/BB)+1
TF I=INT(AS/BB) THEN AA=AS

GOTO 6760

IF I=INT(AE/BB)+1 THEN AA=AE : GOTO 6760

AA=BBX1I
XC2=R¥COS(AA) : YC2:=R*SIN(AA)
X{I)=XC2 : Y(I)=YC2 Z(1)=2ZC :

Z(1)=Z2Z¥COS(SYR)~-X(I)¥SIN(SYR)+ZC

Y(I)=Y(I)+YC

2Z2=7Z(1)

X(I)=ZZ¥SIN(SYR)+X(I)*COS(SYR)+XC

GOSUB 3160 GOSUB 3260 GOSUB 3650
IF AA=AS THEN GOSUB 3900 GOTO 6820
GOSUB 3940
NEXT T
NEXT SYR
RETURN
'Qe00000 CIRCLE ABOUT Z-SHAFT (2) 0000000
FOR SZR=0 TO 2%PAI STEP PAI/DVN
FOR I=INT(AS/BB) TO INT(AE/BB)+1
IF I=INT(AS/BB) THEN AA=AS GOTO 6960
IF I=INT(AE/BB)+1 THEN AA=AE : GOTO 6960
AA=BB¥I
YC2=R¥SIN(AA) ZC2=R*COS(AA)
X(I)=XXC Y(I)=YC2 Z(I)=2C2 XX=X(T1)

X(T)=XX¥COS{SZR)-Y(I)*SIN(SZR)+XC

Z(I1)=Z(I)+ZC

6990
7000
7010
7020
7030
7040
7100
7110
7120
7130
7140
7150
7160
7170
7180
7190
7200
7210
7220
7230
7240
7250
7260

GOSUB 3160 GOSUB 3260 GOSUB 3650
IF AA=AS THEN GOSUB 3900 GOTO 7020
GOSUB 3940
NEXT I
NEXT SZR
RETURN

0000000 ROTATION OF CIRCLE 00000009
FOR T=0 TO 2¥PAI STEP PAI/DVN
FOR I=INT(AS/BB) TO INT(AE/BB}+1

Y(I)=XX*¥SIN(SZR)+Y(I)*COS(SZR)+YC

IF I=INT(AS/BB) THEN AA=AS GOTO 7160

IF I=INT(AE/BB)+1 THEN AA=AE GOTO 7160

AA=BB*I

YC2=R*XSIN(AA) XC2=R¥COS(AA)

X(I1)=XC2 : Y(I)=YC2 Z{(I)=0

Z(I)=X(I)*COS(SZR)+ZC X(I)=X(I)*SIN(SZR)+XC Y(I)=Y(I)+YC
272=2(1) Z(I)=Z(I)*¥COS(T)-Y(I)*SIN(T)

Y(I)=ZZ*SIN(T)+Y(I)*COS(T)
GOSUB 3160 GOSUB 3260 :
IF AA=AS THEN GOSUB 3900
GOSUB 3940
NEXT I
NEXT T
RETURN
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GOTO 7240



7300 '0000066 HELIX-FORM ON THE Y-PLANE [Alalalalalaley
7310 FOR I=INT(AS/BB) TO INT(AE/BB)+N¥MKS

7320 IF I=INT(AS/BB) THEN AA=AS : GOTO 7350

7330 IF I=INT(AE/BB)+1+N*MKS THEN AA=AE+2%PAIXMKS :@ GOTO 7350

7340 AA=BB*I

7350 7ZC2=R*SIN(AA) : XC2=R¥COS(AA)

7360 SX2=XC+XCZ:SZZ=ZC+ZCZ:X(I):SXZ:Y(I)=AA/(2*PA])*PT+YC:Z(T):SZQ
7370 GOSUB 3160 : GOSUB 3260 : GOSUB 3650

7380 IF AA=AS THEN GOSUB 3900 : GOTO 7400

7390 GOSUB 3940

7400 NEXT I

7410 RETURN

7500 '000009Q ROTATION ABOUT Y-SHAFT (3rd) [AYaTATATATATA]
7520 FOR I=1 TO NN

7530 X=X(I) : Z=Z(1)

7540 X(I)=X%COS(SKY)-Z¥SIN(SKY) : Z(I1)=X*SIN(SKY)+Z*COS(SKY)
7550 Y(I)=Y(I)+20%NN1
7560 NEXT I

7570 RETURN
7600 '0000000 CIRCLE ON THE Y-PLANE (2) Q000000

7610 FOR I=INT(AS/BB) TO INT(AE/BB)+1

7620 AA=BB*¥1I

7630 IF I=INT(AS/BB) THEN AA=AS

7640 IF I=INT(AE/BB)+1 THEN AA=AE

7650 ZC2=R¥SIN(AA) : XC2=RX¥COS(AA)

7660 SX2=XC+XC2 : SZ2=ZC+ZC2 : SSX2=8X2

7670 SX2=SX2*COS (J)-SZ2%SIN(J) : SZ2=SSX2¥SIN(J)+SZ2*%COS(J)
7680 X(I)=SX2 : Y(I)=sYC : Z(I)=8SZ2

7690 GOSUB 3160 : GOSUB 3260 : GOSUB 3650

7700 IF AA=AS THEN GOSUB 3900 : GOTO 7720

7710 GOSUB 3940

7720 NEXT 1

7730 RETURN

7800 0000600 CIRCLE ON THE X-PLANE (2) QQ0QQ0
7810 FOR I=INT(AS/BB) TO INT(AE/BB)+I

7820 AA=BB*I1

7830 IF I=INT(AS/BB) THEN AA=AS

7840 IF I=INT(AE/BB)+1 THEN AA=AE

7850 YC2=R*¥SIN(AA} : ZC2=R*COS(AA)

7860 §72=7C+ZC2 : SY2=YC+YC2 : SS8Z2=SZ2

7870 SZ2=S72*%COS(J)-SY2*SIN(J} : SY2=SSZ2*¥STN(J)+SY2XCOS(J)
7880 Z(1)=8Z2 : X(I)=XC : Y(I)=S8Y2

7890 GOSUB 3160 : GOSUB 3260 : GOSUB 3650

7900 IF AA=AS THEN GOSUB 3800 : GOTO 7920

7910 GOSUB 3940
7920 NEXT I
7930 RETURN
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8000
8010
8020
8030
8040
8050
8060
8070
8080
8090
8100
8110
8120
8130
8200
8205
8210
8220
8230
8300
8310
8320
8330
8400
8410
8420
8430
8440
8450
8460
8470
10000
10010
10020
10030
10040
10050

'0000000 CIRCLE ON THE Z-PLANE (2) 000000
FOR T=INT(AS/BB) TO INT(AE/BB)+1

AA=BBxXT

IF T=INT(AS/BB) THEN AA=AS

TF I=INT(AE/BB)+1 THEN AA=AE

YC2zR*SIN(AA) : XC2Z2=R¥COS(AA)
SX2zXC+XC2 : SY2=YC+YC2 : SSX2=-SX2
SXZ:SXZ*COS(J)—SYZ*SIN(J) : SYZ:SSXZ*SIN(J)+SY2*COS(J)

X(T)=8X2 : Y(TI)=8Y2 : Z(I)=2C
GOSUB 3160 : GOSUB 3260 ¢ GOSUB 3650
TF AAzAS THEN GOSUR 3900 : GOTO 8120
GOSUB 3940
NEXT 1
RETURN
'QOOOOQOQOOOOQOOO00QQOO0QOQOQOQQQQQQQOQQOOQOQOOQQQQ
FOR T=1 TO NN
READ X(I),v(1)
NEXT T : RETURN
’

FOR I=1 TO NN

X=X(I) : X(I)=X(I)*COS(SKY) : Z(I)=X*¥SIN(SKY)
NEXT T : RETURN
H

FOR T=1 TO NN
IF T=1 THEN 8430
LINE (Xv-Y)‘(X(I)p-Y(I))ocOL
X=X(T) : Y=zY(T)
TF SKY=0 THEN 84860
LINE (X(T)‘—Y(I))—(XX(I).—YY(I)).COL
XX{T)=X(T) : YY(I)=Y(I)

NEXT I : RETURN
'QOQQQQQQQQQQQQQQQQQQQQQOQQQQQQQQQQQQQQQQQQQQQQQQO
FOR I=1 TO NN

X(I)=X(T)+XM : Y(I)=Y(TI)+YM : Z(I)=Z(I)+ZM
X{1)=X(T}+XMM : Y(I)=Y(T)+YMM : Z(I)=Z(1)+ZMM
NEXT T
RETURN

- 116 ~



((EXA”PLE 1\$

_XRLXR

200.120.50...
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4 . D AT A 2z e) == 5 729y

4.1 DATA @2l =23

sael 7t MA. & delelel F¥M Py chew mEoUg WA 2
2}, 1 7ol m@ el #hel AlAAl (NEW MAKING OUT) dlelet 57}(ADDITION OF
DATA), AF®|(DELETION OF DATA), =x|%¥-(SUBSTITUTION OF DTA) , AFQI(INSERTION OF DATA)
. EH(EXPRESSION OF DATA)o] 71%E 4+ UA=EH 7+ =2 73We S wHolza &

Qlct.

- 118 -



1
2 1
7
4
5

100
101
103
105
106
115
120
130
140
150
160
170
180
190
200
210
220
300
301
305
310
311
315
320
330
340
50
360
370
380
390
400
410
420

***x**xx*xxx******xx*x*x*t*t*x**x***t**t*t*t*****xxt*****t*x***tt***t**&

************#***********************#*t*********x***tt*************t#**t
PROGRAME NAME : DATA CONTROL PROGRAM

**tt******************x*******k**t****t*i****tit*****t*******t***t***t**

***t****xt**t***t***x**t**t********t**x*t***xt**xx***t****t*t****t***ttx

CONSOLE ,,0 : WIDTH 80,20

PRINT " 1. NEW MAKING out"

PRINT " 2. ADDITION OF DATA"

PRINT " 3. DELETION OF DATA"

PRINT " 4. SUBSTITUTION OF DATA"

PRINT " 5. INSERTION OF DATA"

PRINT " 6. EXPRESSION OF DATA" : PRINT

INPUT " NOW! CHOOSE ONE OF THESE BY WRITING DOWN NUMBER(T-6) 1"y

ON N GOSUR 100,300,500,700,900,1100

PRINT : INPUT " DO YOU INTEND TO RETURN 70 MENU-SOCREEN?

IF YN$="Y" OR YN$="y" THEN CLS 1 : goro 20
END

'Q0Q0Q NEW MAKING OQUT ' 006060

CLS 1 : PRINT

PRINT " [vlvivivly 0000000MCOAAVNDMIOOOMMO
PRINT " << NEW MAKING OUT >>"
PRINT " va\ﬁlv\/\ulvvvtvn_JUan_y\l\:\_)\_ﬂ_l\'n‘l\.n)(.nj "
PRINT : PRINT : INPUT " THE NAME OF FILE " v F$
OPEN F$ FOR OUTPUT AS #1

I = 1

PRINT : PRINT " X(";T:™")="3 : INPUT %

TF X=999 THEN 220

PRINT " Y(";T5;")="; : INPUT V

PRINT " Z(";T1;")="; : INPUT 7

PRINT " P/¥(";I;")=": : INPUT DL

WRITE #1,X,Y,Z,DLs

I = T41

GOTO 140

CLOSE #1 : RETURN

'QQQ0@ ADDITION OF DATA ! 90060

CLS 1 :PRINT

PRINT " \vl\_l\,I\,I\_RJ\'J\,)\Jl_l\'l\I\_.'l‘ﬂ_l\vllvl\_)\l\vll'J\_I\l('I\'I\‘_JOO(‘_')Q) "
PRINT " << ADDTTION OF DATA >>"
PRINT " Q0¢ JVUV\_)\'J\_l\_JVU\JV\J\}VVU\:\I\JV\_IUUU(_)(,)(‘_’) "
PRINT : PRINT : TINPUT " THE NAME OF FILE " y I°g
OPEN F$ FOR APPEND AS #1

= 1

PRINT : PRINT " X(":;T5;")="; : INPUT ¥

T# X=999 THEN 420

PRINT " Y"iT;")y=": : INPUT Y

PRINT ™ Z("313")y="; : INPUT 2

PRINT " P/¥(";I;")="; : INPUT NLs

WRITE #1,X,Y,2,DL$

T = T+1

GOTO 340
CLOSE #1 : RETURN
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500 '0006% DELETION OF DATA ! 00009

501 CLS 1 PRINT

505 PRINT " "
510 PRINT " << DELETION OF DATA »"

511 PRINT " "
515 PRINT : PRINT INPUT " THE NAME OF FILE " ; F$

520 PRINT : PRINT " THE NUMBER TO DELETE ? FROM N1 TO N2."
530 PRINT : INPUT " INPUT N1,N2 !" ; N1,N2

540 I = 1

550 OPEN F$ FOR INPUT AS #1

560 OPEN "FNNEW" FOR OUTPUT AS #2

570 IF EOF(1) THEN 630

580 INPUT #1,X,Y,Z,DL$

590 IF I>=N1 AND I<(=N2 THEN I=I+1 : GOTO 570

600 I = I+1

610 WRITE #2,X,Y,Z,DL$

620 GOTO 570

630 CLOSE

640 KILL F$

650 NAME "FNNEW" AS F$ : RETURN

700 ’0066¢ SUBSTITUTION OF DATA ! 00000

701 CLS 1 PRINT

705 PRINT " "
710 PRINT " << SUBSTITUTION OF DATA >»>"
711 PRINT " "
715 PRINT : PRINT INPUT " THE NAME OF FILE " ; F$

720 PRINT : INPUT " THE NUMBER TO SUBSTITUTE " N1

730 I =1 '

740 OPEN F$ FOR INPUT AS #1

750 OPEN "FNNEW" FOR OUTPUT AS #2

760 IF EOF(1) THEN 830

770 INPUT #1,X,Y,Z,DLS$

780 IF I<>N1 THEN 800

785 PRINT "PRESENT VALUE OF DATA : X(":I;")="3%X5", Y(":;I;")y=";Y3", Z(";1I;")="32
", P/%(";I;")=";DL$ : PRINT : PRINT

790 PRINT "INPUT, NEW VALUE OF DATA : X(";I:"), Y(";I;"), Z(";1;"), P/X(";I;")Y"
; : INPUT X,Y,Z,DL$

800 WRITE #2,X,Y,Z,DL$

810 I = I+1

820 GOTO 760 '

830 CLOSE

840 KILL F$

850 NAME "FNNEW" AS F$

860 PRINT : INPUT " DO YOU INTEND TO CONTINUE (Y/N) " ; YN$
870 IF YN$="Y" OR YN$="y" THEN 720 ELSE RETURN

900 ’'06400 INSERTION OF DATA ! [ATATATATAY

901 CLS 1 PRINT

905 PRINT " "
910 PRINT " << INSERTION OF DATA >>"

911 PRINT " "
915 PRINT : PRINT : INPUT " THE NAME OF FILE " F$

920 PRINT : INPUT " THE NUMBER TO INSERT " ; N1

930 I =1



410 OPEN F$ KOR TNPUT AS #1

950 OPEN "FNNEW" FOR OUTPUT AS #2

960 IF EOF(1) THEN 1050

970 INPUT #1,X,Y,2,DL$

980 IF T<>N1 THEN 1020

990 PRINT PRINT "DATA TO INSERT
INPUT X1,YT,Z1,D1.1%

1000 WRITE #2.XI,Y1,71,DLTS

1010 T = T+1

1020 WRITE #2.X,Y,Z,DL$

1030 T = 141

1040 GOTO 960

1060 CLOSE

1060 KILL F$

1070 NAME "FNNEW" AS F$

1080 PRINT INPUT "

X(":T:m)

Ye'srymy,

1090 TF YNg="V" OR YN$="y" THEN 920 ELSE RETURN
1100 ’Q900@ EXPRESSTON OF DATA ! 00000

1101 CLS 1}
1105 PRINT "
1110 PRINT "
1111 PRINT "
1120 PRINT PRINT INPUT "
1130 OPEN F$ FOR INPUT AS #1
1140 1 = 1
1150 PRINT
1160 INPUT " INPUT N1 |
1170 IF EOF(1) THEN 1230

1180 INPUT #1,X,Y,2,DL.8

1190 IF I>=N1 THEN PRINT "
,"2(";T§")="ZZ;,."P/*("JTZ")="§DL$
1200 IF 1=N2 THEN 1230
1210 T = T+1

1220 GOTO 1179

1230 CLOSE #1

1240 TNPUT "

PRINT

PRINT "

:/.(H;‘:n,’ TR

DO YO INTEND TO CONTINUE (Y

/N)

"

YNg

RUMVAVAVIVIY (v (v (v (v Ty Ty s ANV WY L [ v L T T T T T T B

<< EXPRESSTON OF DATA »>

THE

N2 .

NO.

"

NAME OF FTLE

*

THE NUMBER TO EXPRESS ©
N1,N2

IR AN SRR AN ST

DO YOU INTEND TO CONTINUE (Y¥/N)

1250 TF YN$="Y" OR YN$="y" THEN 1130 ELSE RETURN
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O de Lo

e}

10
20
30
40
L0
60
70
80
90

4.2 SEQUENTIAL FILE & 123 <sldl=

ol=iH shal 9rE  SEQUENTIAL FILE & <ial=el oleletz A apgEold  £7t

che sz ree SEQUENTIAL FILE 2 %&l uvielelE glojifle] JAAM=E 22WE
== 7@ olth, SUBROUTINES 3 %rolia ollal®! SUBROUTINE PROGRAN-Z  Ab-&%ch.
neoe Agysd Rdxe FF. UAH A4, Wese M3 ¥ FILE NAKE
o 7]-<olal™ st FILEel diclel® A&7 YgN=s 2 + Urh

*t**********x**********X*****t*i*i*#****t*****t******************
******************#******X***************************************
! PROGRAM NAME . MAIN PROGRAM (FOR DATA CONTROL PROGRAM)
*****************************************************************
*****t***********************************************************
CHAIN MERGE "SUB1" ,ALL,DELETE 9

GOSUR 2100 : GOSUB 2900

INPUT " INPUT THE DATA-FILE NAME ! "y FS

OPEN F3s FOR INPUT AS #1

¥ EOF{1) THEN 200

INPUT #£1,%,Y,7,DLS$

w1z @ Y(IN=Y @ Z(1)=7Z :GOSUB 3160 : GOSUB 3260 : GOSUB 3650
TF DLS="P" THEN GOSUB 3900 :@: GOTO 40

GOSUB 3910

GOTO 40

800 CLOSE #1
950" END
960 DATA 100
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5 . S\ =ie) b2l = |

5.1 Hdl, ziazxlo wl@ol] ofst ey

AA=EHE A=g o wozg: & 2734 Qlazge o
S a2l (HIDDEN LINE ELIMINATION) =} e B2 AREME ofpjrta 2oz
2l o] 4gzlolzim AT, of7lofl = stmatel] Qo] Aeolol X AUl sy
Yool Ztel olul 8ol 2y y g Hol 2Ll 2429k slmsh Rwabnr i

& WALk,

S g o
HE 2El= e

oA x waro) A2 639 , = y wrakoy 399 = ARG 47 . -
BLl X 2®E a9 AR 0 HE 630 . Y ¥z g ﬂmﬂa 0, XAx8 299

22 A3tzm, [120] oAl [140] nlx) = A y FH RIIXE =Sl 1o [2090] 2}
[21001ell elsh Swol 2 w27t Aol 2™ olEl  Ilollaiel Zto|. ¥ o) i
Halloll AolM ¥ oi ¥imyol Al4tzlel olul QY=o glojQ i Azl ®m= 24z

stel WlwE Wslm 2ol At B2 Lol Aelstel. o)zl o] (), (By. ()
of thigste 4We I3 (a) of, 2 A¥ellel k=2 (b) of T2 stel,

M) =z 39 521010l M= Y o ztol Hizlgel 2 Hoay olul  9l2in)
Helde 2dzlg Az vy o A3 wE3: (6000l ol AHEsiels ™
o,

(B) [522010llA= Y gtol A mck e ARRM MRS Y 2ol ziaxat |
X HAEXE Y2 Y o Az AT chE [6000] 0w ¥ ol e dlob=
tgei

(©) (523010l ¥ gtol x|zt AT, #LAB 2 AHemy geoalel
dol 2del sl BEor] wRol Hmsix wmp Kol 15 diolafal (5040
22 Tiebe W,

ol (), (B),(C) of =elofl olaf zHera) SMdajelt 7 ‘
AFESHE Aol FEsimol oy s e g 2 Fﬂ% A
28 % U=€ mzauw wmwast Ack. Alcksh, ol® X o Ftel whay v
Aol 2 A ol FMY well= Ago] Lrlnabct
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5 ' eemmmcmma——— FIRST - VALUE DEFINITION -—=---=m--—mmommo
10 CLS 3 : CONSOLEF 0,25,0,1 : SCREEN 3,0

20 PI=3.14159

30 T=PI/180

40 TN=-B5XT : TY=30XT : TZ=10%T

50 N=0 : (CL=0

80 N0=130 : Y0=150

70 DIST = -1

8O DIM MIN(630),MAX(630)

100 T m e e e MATN PROGRAM ------s-cremmmmmem e m e

110 GOSUB 1000

120 FOR T=0 TO 630

130 MIN(T11=390 : MAX(T)1=0
140 NEXT I

150 N=N+1 @ ClL=CL42

160 FOR Y=-80 TO 80 STEP 5 : M=1
170 FOR X=-80 TO 80 STEP 2
180 GOSUB 2000

190 NEXT X,Y

200 ON N GOTO 210,220,230
210 X0=320 : GOTO 120

220 X0=510 : GOTO 120

230 END
240
1000 'mmmmmmmmmmmmmmm e ROTATTON —mmmmm—mmmmmmmmm e =

1010 XA=COS(TY)XCOS(TZ)

1020 YA=STN(TX)¥SIN(TY)*COS(TZ)-COS(TX)*SIN(TZ)
1020 ZA=COS(TX)¥SIN(TY)*COS(TZ)+SIN(TX)*SIN(TZ)
1040 XB=COS(TY)*SIN(TZ)

1050 YB=SIN(TX)*SIN(TY)XSIN(TZ)+COS(TX)*COS(TZ)
1060 ZB=COS({TX)*¥SIN(TY)XSIN(TZ)-SIN(TX)*COS(TZ)
1070 RETURN

1080

2000 ' ————— BASE EQUATION ----—------m—mmmmm i m
2010 FX=zX

2020 FY=Y

2030 FZ=-SQR(XXX+Y*Y)

2040 1F FZ<=-70 THEN FZ=-70

2050 ON N GOTO 2090,2060,2080

2060 1F FX<=-10 THEN FZ=-T70

2070 GOTO 2090

2080 IF FZ>=-40 THEN FZ=-40

2090 X2=XAXFX+YA¥FY+ZA*FZ +X0

2100 Y2=(XB*FX+YR*¥FY+ZBXFZ)XDIST+YO

2110 *

5200 'mcommmmmm e HIDDEN LINE ELIMINATION —-------eoooomoe

5210 TF Y2>MAX(X2) THEN MAX(X2)zY2 : GOTO 6000
5220 IF Y2<MIN(X2) THEN MIN(X2)=Y2 : GOTO 6000

5230 M=1 : RETURN

5240 '

6000 '---emmemm e m e m DRAWING -—=-~--—-cmmmmmmmm =
6010 IF M=1 THEN M=2 : GOTO 6030

6020 LINE (Xt,Y1)-(X2,Y2),CL

6030 X1=X2 T Yl=Y2

6040 RETURN - 124 -
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0

5.2  PAINTINGoll ol3F wby
PAINT &3 8% gkt 2Hdzjzlol] chsia] AH§ict.

=2l (1)

T4 23 o 2uz wazl: ¥Hxol Mg A =g FAHPe M
Co % 2 UM (& e Moz =HMzich, J2Holre iAol 2B(0) , Cuv
Cae @) 8 &3l Art.

=] (2)
th2oll #Axsn 4L o] HEE (ol AT Ciolls Mzl A2 HBE
thelsbH  olul s o] 9ol z]AAdo] PAINT Elojax HAI FEolMd:
Mol Mol ArwlofMr FFAol Fi=c}.

=12l (3)
a3 (3),(4) ol olul MBI 2 (1),(2) & =IolMA UYH LHE =
ANtz ek, ARG wiof] oA WA AL el (1),(2) § =HFolsA

M gam 7hvtsl edddelzh shsstch

gk, o] 24dxiz] WHES HZ2Y Aot Wi AHoztEH W B =¥E
Jegoz Axsly &axMoz Jine =P AxIeS =2IYPsia| Fow
o

a
i

/CL’G (9)

Ca= 0@

@
Cax0 ) ‘

Caz0(@

T

v T
(6@ € =a(Z) CL=6(&)
3 (4

@ 84 ~2f L MIZLBIRQRAR
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3 ’=====::::::========================:::::::::::::::::::::::=::=::::::
4 2

5 e FIRST - VALUE DEFINITION —-coecommmmoo__
10 CcLsS 3 CONSOLE 0,25,0,1 SCREEN 3,0

20 P1=9 ¢ P2=11

30 PI=3.14159

40 T=PI1/180

50 TX=-65%T TY=0 TZ=32xT

60 SF=1.5

70 X0=145 Y0=315

80 DIST=-1

82 R1=62 : R2=48 RB=12

84 NN=0

86 DIM SX(P1,P2),SY(P1,P2)

100 m e MAIN PROGRAM ~--—— e ___
105 NN=NN+1 ON NN GOTO 110,130,140,170,180,210,240
110 GOSUB 1000 : TB1=-.5 : TB2=1.51 TB3=1

120 TA1=.5 TA2=1.1 TA3=1 GOTO 220

130 TA2=-.1 TA3=-1 GOTO 220

140 TX=25x%T X0=255 Y0=245

150 GOSUB 1000 : TB1=0 : TB2=2.1

160 : TA2=-.51: GOTO 220

170 : TA2=1.51: TA3=1 GOTO 220

180 TX=-65%T X0=145 : Y0=315

190 GOSUB 1000 TB1=1.5 TB2=-.51 TB3=-1

200 TA1=1 GOTO 220

210 TAl=2 : TA3=-1 GOTO 220

220 GOSUB 2000 GOSUB 6000

230 GOTO 105

240 END

250

1000 ' —commm e ROTATION = mmemee
1010 XA=COS(TY)*COS(TZ)

1020 YA:SIN(TX)*SIN(TY)*COS(TZ)—COS(TX)*SIN(TZ)

1030 ZA:COS(TX)*SIN(TY)*COS(TZ)+SIN(TX)*SIN(TZ)

1040 XB=COS(TY)*SIN(TZ)

1050 YB:SIN(TX)*SIN(TY)*SIN(TZ)+COS(TX)*COS(TZ)

1060 ZB:COS(TX)*SIN(TY)*SIN(TZ)—SIN(TX)*COS(TZ)

1070 RETURN

1080 ’

2000 'oemmmee BASE EQUATION —--cmme o __
2010 M=0

2020 FOR TA=TA1%¥PI TO TA2¥PI STEP TA3*P1/8 M=M+1
2030 N=0 X1=R1¥COS(TA) Y1=R2xSIN(TA)

2040 RA=SQR(X1*X1+Y1%¥Y1)

2050 FOR TB=TB1%PI TO TB2%PI STEP TB3*PI/5 N=N+1
2060 RR=RA+RB*COS(TB)

2070 FX=RR¥COS(TA) FY=RR¥SIN(TA)

2080 FZ=RB*SIN(TB) : GOSUB 2120

2090 SX(M,N)=XX SY(M,N)=YY

2100 NEXT TB,TA RETURN

2110

2120 XX=(XAXFX+YAXFY+ZAXFZ)xSF+X0

2130 YY=(XB*FX+YB*FY+ZB*FZ)*DIST*SF+Y0

2140 RETURN
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2150 7

5500 '~-cmmmmmee e HIDDEN LINE ELIMINATION «--eceececeeeceaa—o
5510 PAINT (PP,QQ),CA,CL

5520 TF CN=2 THEN 6160

5530 CN=2 : CL=6 : CA=0 : GOTO 6110

5540 '

6000 ' e DRAWING -------emm e
6010 CC=0 : DDh=0

6020 FOR K=1 TO 2

6030 BB=5 ¢ IF NN=3 OR NN=4 THEN BB=9
6040 FOR T=2 TO BB ¢+ FOR J=2 TO 11

6050 CN=1 T CL=2 : CA=2

6060 P1=SX(T,J)+CC : Q1=8Y(1,J)+DD

6070 P2=SX(I,J-1)+CC t Q2=8Y(I,J-1)+DD

6080 P3=SX(1-1,J-1)+CC : Q3=SY(I-1,J-1)+DD

6090 P4=8SX(I-1,J)+CC ¢ Q4=8SY(I-1,J)+DD

6100 PP=(P1+P2+P3+P4)/4: QQ=(Q1+Q2+Q3+Q4)/4
6110 LINE (P1,Q1)-(P2,Q2),CL

6120 LINE (P2,Q2)-(P3,Q3),CL

6130 LINE (P3,Q3)-(P4,Q4),CL

140 LINE (P4,Q4)-(P1,Q1),CL

6150 GOTO 5500

6160 NEXT J,1I

8170 CC=220 : DD=-140

6180 NEXT K

6190 RETURN
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